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ot =2 o o o Dl 5 2 3| N = ) =
.2 E NS AAE =2 of  Ab oM =
oM AtMA2IH| X = N 127,878
(%) N54,805
(21) AT73,073
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(1) 12,250
oRYBAHME HAX(HEH)
160,000,000 x 50% = 80,000
(1) 80,000
oY A S (fgae = 15,000
(1) 15,000
CHYES(HEIZAQ 5F)
(01468,754,0009! + £340,898,0008 ) - 824,149,000
= A 14,497
(%) N6,104
(1) A8,393
CcAROt HLHES
(21323,809,000% + Z161,904,00094) - 534,456,000
= N48,743
(%) N 16,248
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X:(2000) AFSIJHEEHl  2H:(2200) AL MESHHINA Bt (2210)2H - B ME: (2211) B AR M2 HIAIE: (210) 2 & AL EEMEEERCE]
i = J P! 2 5
Of &b of l @ o = p) x
I 2 S MIE. NIMIE =2 O]l &b oM = 3 o
el ™
11,610,644 15,562,408  ~3,951,764|01 RtXISHM A2 X
oXIlHHEA HE
788,031,000 - 1,576,000,000& = AT787,969
(=) 787,969
oXIHE AEH P = 224,000
(=) A 224,000
oSt HASZA JBtR=
285,620,000 - 225,640,000 = 59,980
(21 59,980
o FHAEEAIL JsSBY
(=21,937,162,0009 + £968,581,0002) - 5,905,518,000
= A2,999,775
(=) A 1,999,850
() 999,925
220 [= 0 & 872,730 Xl 0 2 0]
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i = J P! 2 5
Of &b of l @ o = p) x
I 2 S MIE. NIMIE =2 O]l &b oM = 3 o
350,000,000 - 300,000,000 = 50,000
oREEAHO XR2NSH| = 0
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(2) A8,697
oZZEHIIY MR N = 0
(%) 1,499
(2) A1,499
oBHIZR IR U PAPK = 0
() 4,774
(2) A4 TT4
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AZEE QUL 2
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